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Sample Paper - 2008

Class- X

Subject – Mathematics
	· Please  check   that  this  question   paper  contains   5   printed    pages.

· Code number given  on  the right side  of  the question paper should be written  on   the   title  page   of  the   answer-book  by   the   candidate.

· Please   check    that   this   question    paper   contains    30    questions.

· Please write down the serial number of the question before attempting it.




   Time: 3 hrs                                                                                    Marks: 80 

   General Instructions:

       ( i  ) All questions are compulsory.

       ( ii )  The question paper consists of  30  questions divided  into four  sections –A,B,

              ,C and D. Section  A  contains 10 questions   of  1  mark each, section  B is of

               5  questions of  2  marks   each,  section  C  is of  10  questions  of  3  marks 

               each and section D is of 5 questions of 6 marks each. 

     ( iii )  There is no overall choice. However, an  internal choice has been provided  in 

              one question of two marks each, three questions of three marks each and two

              questions of six  marks each.

    ( iv )  In question on construction, the drawing should be neat and exactly as per the 

             given measurements.

    ( v )  Use of calculator is not permitted.  

SECTION A

( Qns 1 – 10 carry 1 mark each )

1. Find  the  value  of  k  for which 2k + 7, 6k – 2, 8k + 4 form  the three consecutive terms of an A.P.

2. An  arc  of  a  circle  having  measure 180, has  length 22cm. Find the radius of the circle.

3. [image: image1.png]Find  x,  if a  =  40,  ∑fd  =  - 300  and  ∑f  =  60.

4. Without  doing  actual division,  determine whether 621/1500 has a terminating or non-terminating decimal expansion. 
5. The  graph  of  y = p( x )  is  given  in  fig below. Find  the  number of zeros.  
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6. Find  the  probability  getting 53 Sundays in a leap year.

7. The  perimeters  of  two  similar  triangles are 36cm and 48cm respectively. If one side of  the  first  triangle  is  9cm,  what  is  the  corresponding  side  of  the other triangle?

8. If  α and β  are the zeros of the polynomial x2 - 5x + 7, find the value of  α-1 + β-1
9. If  cos4A – sin4A = 1, find the value of cos2A – sin2A.

10.  In fig. PQ and EF are two common tangents of two circles. If EC = 3cm, find PQ. 
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SECTION B

( Qns 11 – 15 carry 2 marks each )

11. Show  that the points ( 1, 2 ), ( 2, 0 ) and ( 3, - 2 ) are collinear

12. Find the value of  ‘p’  for which the system of equation has no solution.

3x  –  4y  +  7  =  0

px  +  3y  –  5  =  0 

13. If  x  =  a secθ  and  y  =  b tanθ  , prove that  x2    -   y2   =  1   

    a2        b2
14. Two   black   queens   are  removed  from  a  pack of 52 cards and a card is drawn. 
      Find  the probability of getting      ( i ) a spade    ( ii ) a queen  

OR

             A  bag  contains  8 red,  6 white  and 4 black balls. A ball is drawn t random from 

             the bag. Find the probability that drawn ball is     ( i ) red or white      ( ii ) neither 

             white nor black. 

15. In  fig.  PAB   and   PCD   are   lines,   PCD   passes   through   the   centre  of the
      circles. Show that PA/AB  =  PC/CD
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SECTION C

( Qns 16 – 25 carry 3 marks each )

16.   Solve the system of linear equations graphically:

  3x  +  y  - 12 =  0;  x – 2y + 6  =  0

  Also find the coordinates of the points where the lines meet the x-axis.

17. Prove the following identity:

secθ  +  tanθ  – 1   =   1  +  sinθ
tanθ  –  secθ  + 1           cosθ

OR

 Evaluate without using trigonometric tables:

 tan110 . tan310. tan600. tan590. tan790   +   tan360    +   cos200.cosec700   -   2

                cot540
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18.  The  vertices  of a triangle are A ( 3, 4 ), B ( 7, 2 ) and C ( - 2, 5 ). Find the length 

       of the median through the vertex A.

19. Use Euclid’s division algorithm to find the H.C.F of  135 and 225.

OR

        Prove  that  √5  +  √3  is  an  irrational  number.

20. Prove that the parallelogram circumscribing a circle is a rhombus.

21. Construct a triangle  similar to a given triangle with sides 6cm, 7cm and 8cm and 

        whose sides are 7/5th of the corresponding sides of the given triangle.

22. The  line  joining the points ( 2, 1 ) and ( 5, - 8 ) is trisected at the points P and Q.

       If the point p lies on the line 2x – y + k = 0, find the value of k.

23.  ‘1’ and – 3 are  the zeros  of  the polynomials x3 – ax2 – 13x + b, find  the values  

 of  a  and  b.

24. A  sum  of  Rs 700  is  to be used to give seven cash prizes to students of a school   

       for  their  overall  academic  performance.  If  each  prize is  Rs 20  less  than   its  

       preceding prize, find the value of each of the prizes. 

25. In fig. ABCD is a square of side 14cm. With centres A, B, C and D, four circles are drawn  such  that  each  circle  touch  externally  two of the remaining three circles. Find the area of the shaded region.
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OR
      The  decorative  block  is  made of two solids- a cube and a hemisphere. The base 

of  the  block  is  a  cube  with  edge 5cm, and the hemisphere fixed on the top has   

      diameter of 4.2 cm. Find the total surface area of the block. 
SECTION D

( Qns 26 – 30 carry 6 marks each )

26. In  a  triangle,  if  the   square  of  one side is  equal  to  the  sum  of squares of the   

      remaining  two   sides,   prove    that   the   angle   opposite   to   the   first   side  is   

      a right  angle.

            Using the above, do the following:

            ABC is an isosceles triangle with AC = BC. If AB2 = 2AC2, prove  that  ABC is a 

            right triangle.
LEKSHMY STUDY CIRCLE     

27. The   difference   of   the   squares   of  two  numbers  is  180.  The  square  of  the 

      smaller  number is 8 times the larger number. Find the two numbers.

OR

     Some  students  planned  a picnic. The budget for food was Rs 480. But 8 of these 
     failed  to  go  and thus the cost of food for each member increased by Rs 10. How 
     many students went on the picnic?   
28. An   aeroplane   when   flying  at  a   height  of  4000m  from  the  ground  passes 
      vertically above  another  aeroplane  at  an  instant  when  the  angles of elevation 
      of   the  two   planes   from   the   same  point   on   the  ground  are  600  and  450 
      respectively. Find the  distance between the aeroplanes at that instant.

OR

     A  pole  projected  outwards  from  a window 10m above the ground of a building   

     makes  an  angle of 300 with  the  wall. The angles of elevations of the bottom and 

     top of  the  pole  from a point on the ground are 300 and 600 respectively. Find the 

     length of the pole.

29. The  lower  portion  of  a haystack  is an inverted  cone  frustum and upper  part is 

      a  cone.  Find    the  total volume  of  the   haystack  where  AB  =  3m,  CD = 2m, 

      PA =  7m  and PC = 10.5m

                                                                           P
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30. The mode of the following frequency distribution is 55. Find the values of x and y      

	Class - Interval
	Frequency

	0 - 15
	6

	15 - 30
	7

	30 - 45
	y

	45 - 60
	15

	60 - 75
	10

	75 - 90
	x

	Total
	51
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